
HIGHER SECONDARY MODEL EXAMINATION 2022-23
ACCOUNTING WITH COMPUTERISED ACCOUNTING
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PART - A : ACCOUNTING (40 SCORE)PART - A : ACCOUNTING (40 SCORE)PART - A : ACCOUNTING (40 SCORE)PART - A : ACCOUNTING (40 SCORE)PART - A : ACCOUNTING (40 SCORE)
I. Answer any four questions from 1 to 5, each

carries 1 score.
1) If the partnership deed is silent, profits & loses are

shared .............
a) in capital ratio
b) equally
c) in sancrificing ratio
d) in gaining ratio

2) Anjali & Aneesh are partners sharing profits in the
ratio of 3 : 2. They admit Anand for a 1/6th share.
The sacrificing ratio of Anjali & Aneesh is ................
a)  2 : 1 b)  1 : 1
c)  3 : 2 d) 4 : 3

3) The share of profit due to the deceased partner till
the date of death is adjusted through ...............
a)  Profit & Loss Account
b)  P & L Suspense Account
c) P & L  Appropriation Account
d) P & L Adjustment Account

4) When an asset is taken over by a partner on disso-
lution, ................ is credited.
a)  Realisation Account
b) Partner Capital Account
c) Bank Account
d) Asset Account

5) Find the Odd One.
a) Admission of a partner.
b) Retirement of a partner.
c) Change in profit and loss ratio
d) Dissolution of a firm.

II Answer all questions from 6 to 7, each carries 2
score.

6) How the reserves and accumulated loss are treated
on retirement of a partner?

7) Revathy withdraws Rs. 20,000/- at the beginning of
each month. If the interest is charged at 80% p.a.,
calculate interest on drawings for the year.

I. Xmsg X∂n-cn-°p∂ tNmZy-ß-fn¬ 4 FÆ-Øn\v

DØ-c-sa-gp-Xp-I (1 am¿°v hoXw)

1. em`-\-jvS-hn-X-c-W-sØ-∏‰n ]¶m-fnØ {]am-W-

Øn¬ ]cm-a¿in-°p-∂n-s√-¶n¬ Ah ...................
Bbn hnX-cWw sNøpw.

a) aqe-[\ A\p-]mXw

b) Xpeyw

c) XymK A\p-]mXw

d) t\´ A\p-]mXw

2. 3 : 2 F∂ A\p-]m-X-Øn¬ em`-\jvSw ]¶p-h-
bv°p∂ ]¶m-fn-I-fmWv ARvP-enbpw A\o-jpw.

1/6 Hml-cn-°mbn B\µv F∂ ]¶m-fn-sb-°qSn
_nkn-\-kn-tebv°v FSp-°p-∂p. ARvP-enbpw

A\ojpw XΩn-ep≈ XymKm-\p-]mXw ..................
BWv.

a)  2 : 1        b)  1 : 1          c)  3 : 2 d) 4 : 3
3. ac-W-s∏´ ]¶m-fn°v A¿l-X-s∏´ B h¿jsØ

acWw hsc-bp≈ em`-hn-lnXw .............................

hgn-bmWv hI-bn-cp-tØ-≠-Xv.

a) t{]m^n‰v & temkv A°u≠v

b) P& L  kkvs]≥kv A°u≠v

c) P& L At{]m-{]n-tb-j≥ A°u≠v

d) P& L AUvP-Ãvsa‚ v A°u≠v

4. ]¶m-fnØ ÿm]\w {]h¿Ø\w Ah-km-\n-∏n-
°p-tºmƒ Hcp ]¶mfn Hcp BkvXn Gs‰-Sp-°p-

∂-]£w ...................... s{IUn‰v sNøp-∂p.

a) dnb-sse-tk-j≥ A°u≠n¬

b) ]¶m-fn-I-fpsS aqe-[\ A°u≠n¬

c) _m¶v A°u≠n¬

d) Ak‰v A°u≠n¬

5. thdn´v \n¬°p-∂-Xns\ Is≠-Øp-I.

a)   AUvan-j≥

b)   dn´-b¿sa‚ v

c)  em`-\jvS A\p-]m-X-Ønse am‰w

d)  ÿm]\w {]h¿Ø\w Ah-km-\n-∏n-°¬

II Xmsg X∂n-cn-°p∂hbn¬ F√m tNmZy-ß-

ƒ°pw DØ-c-sa-gp-Xp-I (2 am¿°v hoXw)

6. Hcp ]¶m-fnØ ÿm]-\-Øn¬\n∂v Hcp ]¶mfn
]ncn-™p-t]m-Ip-tºmƒ Icp-X¬[-\hpw k©n-

X-\-jvShpw F{]-Imcw A°u≠v sNøp-∂p.?

7. tchXn F√m amkhpw Bcw-`-Øn¬ 20,000/˛
cq] ]n≥h-en-°p-∂p. ]eni 8% BsW-¶n¬ Hcp

h¿j-tØ-bv°p≈ ]eni IW-°m-°p-I.



III Answer any 2 questions from 8 to 10, each
carries 3 score.

8) Differentiate between dissolution of partnership and
dissolution of firm.

9) X, Y and Z are partners sharing profits in the ratio 3
: 2 : 1, where Z is guaranteed a minimum profit of
Rs. 25,000/-. During the year 2022-23, the firm earned
a profit of Rs. 1,20,000/- Show the distribution of
profit among X, Y & Z.

10) The average profit of the firm for the last 4 years is
Rs. 60,000/-. The capital employed by the firm is
Rs. 5,00,000/- and the normal rate of return is 9%.
Calculate the value of good will on the basis of 3
years purchase of super profits.

IV Answer all questions from 11 to 12, each carries
4 score.

11) Riya and Miya are partners in the ratio 3 : 2. They
admit Diya as a new partner for 1/5th share, for which
she brings Rs. 5,00,000/-as capital and Rs. 1,00,000/
- for goodwill. Riya and Miya withdraw half of the
goodwill premium received by them. Give journal
entries.

12) Jaya retired from a partnership on 31.12.2018. The
sum due to her amounted to Rs. 5,00,000/- was
transferred to her loan A/c, with interest @ 10% re-
payable in 4 annual equal instalments, payable at
the end of the year, together with interest. Show
Jaya’s Loan Account.

V Answer all questions from 13 to 14, each carries
5 score.

13) Nijaz and Bijoy are partners in the ratio 2 : 1 with
capital balance of Rs. 15,00,000/- and Rs 12,00,000/
- respectively on 01.01.2011. As per the deed,
a) Interest on capital @8% p.a.
b) Nijaz is allowed a monthly salary of Rs. 5000/-
p.m.
c) Bijoy is to receive a commission of Rs. 20,000/-.
The drawings for the year were Nijaz Rs. 2,00,000/-
and Bijoy Rs. 1,50,000/- on which interest due were
Rs. 12,000/- and Rs. 8,000/- respectively.
Profit for the year ended on 31.12.2011 was Rs.
5,40,000/- Show P & L appropriation account and
partners capital account.

14) Explain the accounting treatment required at the time
of death of a partner.

III Xmsg X∂n-cn-°p∂ tNmZy-ß-fn¬ 2 FÆ-
Øn\v DØ-c-sa-gp-Xp-I (3 am¿°v hoXw)

8. ]¶m-fnØ th¿]n-cn-bepw ]¶m-fn-Ø-ÿm-]\w
AS-®p-]q-´p-∂Xpw XΩn-ep≈ aq∂v hyXym-k-
ßƒ Gh?

9. 3 : 2 : 1 F∂ A\p-]m-X-Øn¬ ]¶m-fn-I-fm-bn-cn-
°p∂ X, Y, Z-¬ Z-\v 25000/˛ cq] Ipd™ em -̀hn-
ln-X-ambn \nP-s∏-Sp-Øn-bn-cn-°p-∂p. 2022˛23 h¿j-
Øn¬ Sn ÿm]-\-Øn\v 1,20,000/˛ cq] em -̀ap-
≠m-bn. em -̀hn-lnX {Iao-I-cWw hy‡-am-°p-I.

10. Hcp ÿm]-\-Øns‚ Ign™ \mev h¿jsØ
icm-icn em`w 60,000/˛ cq]-bm-Wv. ÿm]-\-
Øns‚ aqe-[-\-\n-t£]w 5,00,000/˛ cq]bpw
km[m-cW hcp-am\ \nc°v 9%˛hp-am-Wv. kq∏¿
t{]m^n-‰ns‚ aq∂v aSßv IW-°m°n k¬t∏-
cns‚ XpI IW-°m-°p-I.

IV Xmsg X∂n-cn-°p∂hbn¬ F√m tNmZy-
ßƒ°pw DØ-c-sa-gp-Xp-I (4 am¿°v hoXw)

11. 3 : 2 F∂ A\p-]m-X-Øn¬ ]¶m-fn-I-fmb
dnbbpw anbbpw 1/5 sjb¿ A\p-h-Zn-®p-sIm≠v
Znbsb ]¶m-fn-bmbn tN¿°p-∂p. AXn-te-
bv°mbn Znb 5,00,000/˛ cq] aqe-[-\hpw 1,00,000/
˛ cq] KpUvhn¬ {]oan-bhpw sIm≠p-h-cp-∂p.
dnbbpw anbbpw KpUvhn¬ XpI-bpsS ]IpXn
]n≥h-en-°p-∂p. Bh-iy-amb tP¿W¬ F≥{Sn
\¬Ip-I.

12. 31 . 12 .2018˛¬ Hcp ]¶m -fnØ ÿm]-\ -
Øn¬\n∂pw hnc-an® Pbbv°v e`n-t°≠
5,00,000/˛ cq] 10% ]eni \nc-°n¬ \mev Xpey
hm¿jnI KUp-°-fmbn XncnsI \¬Ip-∂-Xn-
\mbn Hcp tem¨ A°u-≠n-tebv°v am‰n.
F√m h¿jhpw Ah-km\w ]enibpƒs∏sS
Xncn -® -Shv \S-Øp-∂p. Pb-bpsS tem¨
A°u≠v ImWn-°p-I.

V Xmsg X∂n-cn-°p∂hbn¬ F√m tNmZy-
ßƒ°pw DØ-c-sa-gp-Xp-I (5 am¿°v hoXw)

13. 2 : 1 A\p-]m-X-Øn¬ em`-\jvSw hoXn-°p∂
\nPm-kv, _ntPmbv F∂o ]¶m-fn -I-fpsS
01.01.2011˛se aqe-[-\-_m-e≥kv bYm-{Iaw
15,00,000/˛ cq]bpw 12,00,000/˛ cq]-bp-am-Wv. ]¶m-
fnØ {]amWw {]Imcw

a) aqe-[-\-Øn\v ]eni 8% ]n.-F.

b) \nPm-kn\v Hmtcm amkhpw 5000/˛ cq] iºfw
\¬I-Ww.

c) _ntPm-bn°v 20,000/˛ cq] IΩo-j≥ e`n-°pw.

\nPmkpw _ntPm-bnbpw Cu h¿jw kz¥w
Bh-iy-Øn-\mbn ]n≥h-en® XpI bYm-{Iaw
2,00,000, 1,50,000 cq] hoX-am-Wv. AXns‚ ]eni
bYm{Iaw 12,000/˛ , 8000/˛ cq] hoX-am-Wv.

31.12.2011˛¬ Ah-km-\n-°p∂ h¿jsØ em`w
5,40,000/˛ cq]-bm-Wv. t{]m^n‰v temkv At{]m-
{]n-tb-j≥ A°u≠pw ]¶m-fn-I-fpsS aqe-[\
A°u≠pw hc-bv°p-I.

14. Hcp ]¶mfn ac-W-s∏-´m¬ sNtø≠ A°u-

≠nwKv Imcy-ßƒ Fs¥√mw?



VI Answer any one question from 15 to 16, which
carries 8 score.

15) The following is the balance sheet of Sanal and Binil
who share profits in the ratio 4 : 3.

Balance Sheet
Liabilities Amount Asset Amount
Creditors 66000 Cash at Bank 4000
Reserve 28000 Debtors 30000
Capital Sanal 60000 Stock 75000
           Binil 40000 Building 78000

P&L Account 7000
194000 194000

On the above date, Rajesh is admitted as a new
partner for 1/8th share on the following terms.
a) Rajesh will bring Rs. 50,000/- as capital and Rs.

14,000/- as goodwill.
b) Building should be revalued at Rs. 1,18,000/-.
c) 5% provision is to be made on debtors.
d) A liability of Rs. 2500/- is outstanding for repairs.

Prepare necessary ledger accounts and Balance
Sheet.

16. Reji and Sai are partners in the ratio 3 : 2.  The Bal-
ance Sheet on 31st December 2014 was as follows.

Balance Sheet as on 31.12.2014
Liabilities Amount Asset Amount
Sundry Creditors 10000 Land & Bldgs. 4000
Bill payable 20000 Furniture & Fittings 14000
Reserve 5000 Truck 10000
Capital Stock 5000
Reji 15000 Debtors 6000
Saji 15000 Cash 10000

65000 65000
They decided to dissolve the firm.

Reji decided to fake over sunday creditors and Saji
footover bills payable. Assets realised Debtors Rs. 4000,
furniture Rs. 10,000, stock Rs. 4000, Truck Rs. 15000 and
Land & Buildings Rs. 35000. Expense on realisation
amounted to Rs. 500.

Prepare realisation account, partners capital account
and cash account.
PART B - COMPUTERISED ACCOUNTING (20 SCORE)
VII Answer any 3 questions from 17 to 20, each car-

ries 1 score.
17. TVM, EKM, KTM are examples of ........... code.
18. The number of blank cells in a range can be deter-

mined through ................. function.

VI Xmsg X∂n-cn-°p∂hbn¬ Hcp tNmZy-Øn\v

DØ-c-sa-gp-Xp-I (8 am¿°v)

15. 4 : 3 A\p-]m-X-Øn¬ em`-˛-\jvSw hoXn-°p∂
]¶m-fn-I-fmb k\¬, _n\n¬ F∂n-h-cpsS

_me≥kv jo‰mWv Xmsg \¬Ip-∂-Xv.

_me≥kv jo‰v

_m[yX XpI BkvXn XpI
s{IUn-t‰gvkv 66000 ssIh-i-∏Ww 4000
Icp-X¬[\w 28000 sU_vt‰gvkv 30000

aqe-[\w k\¬ 60000 tÃm°v 75000
_n\n¬ 40000 sI´nSw 78000

P&L A°u≠v 7000
194000 19700

cmtP-jns\ ]pXnb ]¶m-fn-bmbn 1/8 ]t¶msS

Xmsg ]d-bp∂ hyh-ÿ-bn¬ {]th-in-∏n-®p.

a) cmtPjv 50,000/˛ cq] aqe-[-\-ambpw 14,000/˛

cq] KpUvhn¬ Bbpw sIm≠p-h-c-Ww.

b) sI´n-S-Øns‚ hne 1,18,000/˛ cq]-bmbn

c) In´m-°-S-Øn-\p≈ Icp-X¬ sU_vt‰-gvkns‚

5% thWw.

d) dn∏-b-dn\v \¬tI≠ 2500/˛ cq] sImSp-°m-
\p≈ _m[y-X-bmbn \ne-\n¬°p-∂p.

Bh-iy -ap≈ seUvP¿ A°u-≠p -Ifpw
_me≥kvjo‰pw Xøm-dm-°p-I.

16. 3 : 2 A\p-]m-X-Øn¬ em`-\jvSw hoXn-°p∂

]¶m-fn-I-fmWv sdPnbpw kPn-bpw. 31.12.2014˛se
Ah-cpsS _me≥kv jo‰v Xmsg \¬Ip-∂p.

_me≥kv jo‰v

_m[yX XpI BkvXn XpI

s{IUn-t‰gvkv 10,000 `qanbpw sI´n-Shpw 20,000

_n¬kv t]b-_nƒ 20,000 ^¿Wn-®¿, ^n‰nwKvkv 14000
Icp-X¬[\w 5000 {S°v 10000

aqe-[\w
sdPn 15,000 tÃm°v 5000

kPn 15,000 sUt‰gvkv 6000
Imjv 10000

65000 65000

Ah¿ ÿm]\w ]q´m≥ Xocp-am-\n-®p.

sdPn s{IUn-t‰-gvkn-t\bpw kPn _n¬kv t]b-

_n-fn-t\bpw Gs‰-Sp-°m≥ Xocp-am-\n-®p. BkvXn-Iƒ
hn‰Xv : sU_vt‰gvkv 4000 cq], ̂ ¿Wn-®¿ 10000 cq],

tÃm°v 4000 cq], {S°v 15000 cq], ̀ qanbpw sI´n-Shpw
35000 cq], Nnehv 500 cq].

dnb-sse-tk-j≥ A°u-≠v, ]¶m-fn-I-fpsS aqe-

[\ A°u-≠v, Imjv A°u≠v F∂nh Xøm-dm°pI.

]m¿ v́ B ̨  Iw]yq-́ -ssdkvUv A°u-≠nwKv

VII Xmsg X∂n-cn-°p∂hbn¬ 3 tNmZy-ßƒ°v

DØ-c-sa-gp-Xp-I (1 am¿°v hoXw)

17. TVM, EKM, KTM F∂nh ............. tImUn\v DZm-
l-c-W-am-Wv.

18. Hcp td©nse iq\y-amb sk√p-I-fpsS FÆw
............. ^Mvj≥ aptJ\ I≠p-]n-Sn-°mw.



19. Name of statement prepared in every business to
show the details of salary calculation.

20. Salary outstanding account is prepared under the
............ subgroup.
a) Creditors for puchase
b) Creditros for expense
c) Provisions
d) None of these.

VIII Answer the questions 21, which carries 2 score.
21. Which are the four components of Libre office base.
IX Answer all questions from 22 to 23, each carries

3 score.
22. Which are the two spreadsheet functions used to

calculate depreciation of fixed assets. Give syntax
of any one function.

23. Explain any 3 components of a graph in spread-
sheet.

X Answer the question 24 which carries 4 score.
24. Explain the procedure for preparation of final

accounts in Gnukhata.
XI Answer any 1 question from 25 to 26, each car-

ries 5 score.
25. Which are the various functions in Libre Office Calc?

Explain any 3 financial functions.
26. Explain any five voucher types available in Gnukhata

with function key.

19. Hmtcm ÿm]-\hpw Poh-\-°m-cpsS iº-fw

I≠p-]n-Sn®v tcJ-s∏-Sp-Øm≥ D]-tbm-Kn-°p∂

tÃ‰vsa‚ns‚ t]sc¥v?

20. iºfw Hu´vkvd-dm‚nwKv A°u≠v ............

k_v{Kq-∏n\v Iogn-em-WvX-øm-dm-°p-∂-Xv.

a) s{IUn‰v t^m¿ ]¿t®bvkv

b) s{IUn-t‰gvkv t^m¿ FIvkvs]≥kv

c) s{]mhn-j≥kv

d) CsXm-∂p-a-√.

VIII Xmsg X∂n-cn-°p∂ tNmZy-Øn\v DØ-c-sa-gp-

Xp-I (2 am¿°v)

21. ens{_ Hm^okv t_kns‚ \mev LS-I-ßƒ

GsX√mw?

IX Xmsg X∂n-cn-°p∂ F√m tNmZy-ßƒ°pw

DØ-c-sa-gp-Xp-I (3 am¿°v hoXw)

22. ÿncw BkvXn-I-fpsS Un{]o-kn-tb-j≥ I≠p-

]n-Sn-°m≥ D]-tbm-Kn-°p∂ c≠v kvs{]Uv jo‰v

^Mvj-\p-Iƒ GsX√mw?

AXn¬ GsX-¶nepw Hsc-Æ-Øns‚ kn‚mIvkv

Fgp-Xp-I.

23. {Km^n-s‚ GsX-¶nepw 3 LS-I-ßƒ hnh-cn-

°pI.

X Xmsg X∂n-cn-°p∂ tNmZy-Øn\v DØ-c-sa-gp-

Xp-I (4 am¿°v)

24. Pn\p-Jm-Ø-bn¬ ss^\¬ A°u≠vkv Xøm-

dm-°p∂ \S-]-Sn-{Iaw hnh-cn-°p-I.

XI Xmsg X∂n-cn-°p∂ tNmZy-Øn\v DØ-c-sa-gp-

Xp-I (5 am¿°v)

25. ens{_ Hm^okv Im¬°n¬ D]-tbm-Kn-°p∂

hnhn[ ̂ Mvj-\p-Iƒ GsX√mw? AXn¬ GsX-

¶nepw aq∂v ^n\m≥jy¬ ^Mvj-\p-Iƒ hnh-

cn-°p-I.

26. Gnukhata-¬ e`y-am-bn-́ p≈ A©v hu®¿ ssS∏n-

s\-°p-dn®v ^Mvj-W¬ Io klnXw hni-Z-am-

°p-I.
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